CONTRACT AGREEMENT

KNOW ALL MEN BY THESE PRESENTS:

This CONTRACT AGREEMENT made and entered this 15 Pebruary 2022 by and between, the CITY GOVERNMENT OF BALANGA, BATAAN, herein represented by HON. FRANCIS ANTHONY S. GARCIA (hereinafter called the "Entity") as the Party of the First Part and LOUIS RESTAURANT represented by Mr. ISMAEL G. ATIENZA, JR. (hereinafter called the "Supplier") as the Party of the Second Part.

WHEREAS, the Entity invited Bids for certain goods and ancillary services viz., SUPPLY AND DELIVERY OF PACKED MEALS FOR FRONTLINE WORKERS AND TECHNICAL STAFF IN VARIOUS VACCINATION SITES IN THE CITY GOVERNMENT OF BALANGA, BATAAN and has accepted a Bid by the Supplier for the supply of those goods and services in the sum of ONE MILLION FIVE HUNDRED FIFTEEN THOUSAND EIGHT HUNDRED PESOS (P1,515,800.00) hereinafter called the "CONTRACT PRICE."

THIS AGREEMENT WITNESSETH AS FOLLOWS:

- In this Contract Agreement, words and expressions shall have the same meanings as are respectively assigned to them in the Condition of Contract referred to.
- The following documents shall be deemed to form and be read and construed as part of the Agreement, viz.;
 - Bidding Documents, including the Schedule of Requirements, Technical Specifications, General and Special Conditions of Contract;
 - (b) Bid Form and the Price Schedule submitted by the Bidder;
 - (c) Performance Security; and
 - (d) Entity's Notification of Award.
- 3. In consideration of the payments to be made by the Entity to the Supplier as hereinafter mentioned, the Supplier hereby covenants with the Entity to provide goods and services and to remedy defects therein in conformity in all respects with the provisions of the Contract.
- 4. The Entity hereby covenants to pay the Supplier in consideration of the provision of the goods and services and the remedying of defects therein, the Contract Price

or such other sum as may become payable under the provisions of the contract at the time and in manner prescribed by the contract.

IN VIEW WHEREOF, the PARTIES here have caused this Agreement to be executed in accordance with the laws of the Republic of the Philippines on the day and year first above written.

CITY OF BALANGA

Entity

Party of the First Part

LOUIS RESTAURANT

Supplier

Party of the Second Part

By:

HON. FRANCIS ANTHONY S. GARCIA

ISMAEL G. ATIENZA, JR.

WITNESS:

JOSELITO, R. EVANGELISTA

City Treasurer

LILIBETH T. CALATA
City General Services Officer

ACKNOWLEDGMENT

REPUBLIC OF THE PHILIPPINES)
CITY OF BALANGA, BATAAN) S.S.

BEFORE ME, as the Notary Public for and within the City of Balanga, Province of Bataan, Philippines, personally appeared:

Name

Evidence of Identity

Date / Place of Issue

FRANCIS ANTHONY S. GARCIA

COB ID No. 0520

July 2016 / Balanga City

ISMAEL G. ATIENZA, JR.

TINID: 296 394 207-000

March 2011 / Balanga City

known to me to be the same persons who executed the foregoing CONTRACT AGREEMENT and they acknowledged to me that the same is their true act and deed for and in behalf of the parties they represented.

IN WITNESS WHEREOF, I have hereunto affixed my Signature and Official Seal this in Balanga City, Bataan.

EB 15 2022

ATTY. CHARINA P. RAMOS

NOTARY PUBLIC

Until December 3/1, 20 44

CARRIES WOULLE

Roll of Attorney No. 47420

Tel. No. (047) 612-2075

Doc. No. 43

Page No. Book No.

Series of WW



Republic of the Philippines Province of Bataan

City of Balanga OFFICE OF THE CITY MAYOR

(047) 2372256 / 2372969 / 2373510

NOTICE OF AWARD

February 10, 2022

LOUIS RESTAURANT Capitol Drive, Tenejero, Balanga City, Bataan

Dear Sir/Madam:

We are happy to notify you that your bid dated February 2, 2022 for execution of the Supply and Delivery of Packed Meals for Frontline Workers and Technical Staff in Various Vaccination Sites in the City Government of Balanga, Bataan, for the Contract Price of equivalent to ONE MILLION FIVE HUNDRED FIFTEEN THOUSAND EIGHT HUNDRED PESOS (P 1,515,800.00), as corrected and modified in accordance with the Instructions to Bidders is hereby accepted.

You are hereby required to provide within ten (10) days the performance security in the form and the amount stipulated in the Instructions to Bidders. Failure to provide the Performance Security shall constitute sufficient ground for cancellation of this award and forfeiture of your Bid Security.

Very Truly Yours,

FRANCIS ANTHONY S. GARCIA City Mayor

Conforme:

Contractor

Date

2nd Floor, Balanga City Hall, Poblacion, Balanga City, Bataan 2100 cmo.cob@gmail.com

Irunus Avanable.

OBR No:

1



Republic of the Philippines Province of Bataan

City of Balanga OFFICE OF THE CITY MAYOR

(047) 2372256 / 2372969 / 2373510

NOTICE TO PROCEED

15 February 2022

LOUIS RESTAURANT Capitol Drive, Tenejero, Balanga City, Bataan

Dear Sir/Madam:

The attached Contract Agreement having been approved, notice is hereby given to LOUIS RESTAURANT that work may proceed on the Supply and Delivery of Packed Meals for Frontline Workers and Technical Staff in Various Vaccination Sites in the City Government of Balanga, Bataan, effective on the date indicated above within 7 calendar days after the receipt of this notice.

Upon receipt of this notice, you are responsible for performing the services under the terms and conditions of the Agreement and in accordance with the Implementing Schedule.

Please acknowledge receipt and acceptance of this notice by signing both copies in the space provided below. Keep one copy and return the other to the City Government of Balanga

Very Truly Yours,

FRANCIS ANTHONY S. GARCIA City Mayor

I acknowledge receipt of this Notice on ______02 | 5 | 2027

Name of the Representative of the Bidder: ICMAEL L. AMENZA, JR.

Authorized Signature:

2nd Floor, Balanga City Hall, Poblacion, Balanga City, Bataan 2100 cmo.cob@gmail.com

Tunus Avallable:

I OBR No :



Province of Bataan City of Balanga

OFFICE OF THE BIDS AND AWARDS COMMITTEE

RESOLUTION NO.003 (Goods) S. 2022

BAC RESOLUTION DECLARING LCRB AND RECOMMENDING APPROVAL

WHEREAS, the City Government of Balanga posted the Invitation to Apply for Eligibility and to Bid for the Supply and Delivery of Packed Meals for Frontline Workers and Technical Staff in Various Vaccination Sites at City Government of Balanga website and a conspicuous place at the premises of the City of Balanga continuously for 7 days;

WHEREAS, in response to the said advertisements, two (2) suppliers purchased bid documents Louis Restaurant and Molo's Catering Services and submitted applications for eligibility of bids;

WHEREAS, upon careful examination of the legal/technical documents, Molo's Catering Services submitted documents were found insufficient and declared disqualified to participate in the Supply and Delivery of Packed Meals for Frontline Workers and Technical Staff in Various Vaccination Sites;

WHEREAS, the bid proposal of Louis Restaurant was found to be substantially complying and upon careful examination, validation and verification of all the eligibility, technical and financial requirements submitted by the Bidder with the Lowest Calculated Bid, its bid has been found to be responsive;

NOW, THEREFORE, We, the Members of the Bids and Awards Committee, hereby RESOLVE as it is hereby RESOLVED;

a) To declare *LOUIS RESTAURANT* as the Bidder with the Lowest Calculated and Responsive Bid for the following item:

ITEM NO.	DESCRIPTION	UNIT OF ISSUE	APPROX. QTY.	UNIT PRICE	TOTAL AMOUNT
	February 16, 2022				
1	Breakfast sausage with egg (scrambled/sunny side up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
2	Lunch fried liempo/gulay na sayote/rice/bottled water	packs	130	95.00	12,350.00
3	PM snacks spaghetti/puto/bottled water	packs	130	75.00	9,750.00
	February 17,2022				-
4	Breakfast tinapang bangus w/ egg (scrambled/sunny side up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
5	Lunch ginisang ampalaya/fried fish/rice/bottled water	packs	130	95.00	12,350.00
6	PM snacks pansit/kutsinta/bottled water	packs	130	75.00	9,750.00
	February 18,2022			•	-
7	Breakfast hotdog with egg (scrambled/sunny side up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
8	Lunch sarsiado tilapia/banana/rice/bottled water	packs	130	95.00	12,350.00
9	PM snacks egg pie/bottled water	packs	130	75.00	9,750.00

Republic of the Philippines Province of Bataan

	February 19,2022				e)
10	Breakfast corned beef with egg (scrambled/sunny side up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
11	Lunch chicken afritada/banana/rice/bottled water	packs	130	95.00	12,350.00
12	PM snacks cheese and hotdog waffle/soda	packs	130	75.00	9,750.00
	February 20,2022				-
13	Breakfast longganisa with egg (scrambled/sunny side up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
14	Lunch lumpiang sariwa/fried chicken/rice/bottled water	packs	130	95.00	12,350.00
15	PM snacks halo-halo/bread/bottled water	packs	130	75.00	9,750.00
	February 21,2022				-
16	Breakfast luncheon meat with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
17	Lunch gulay na mais/porkchop/rice/bottled water	packs	130	95.00	12,350.00
18	PM snacks ginatan/suman/water	packs	130	75.00	9,750.00
	February 22,2022				
19	Breakfast tinapang bangus w/ egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
20	Lunch Chicken ala king/banana/rice/bottled water	packs	130	95.00	12,350.00
21	PM snacks pansit/bananaque/water	packs	130	75.00	9,750.00
	February 23,2022				
22	Breakfast longganisa with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
23	Lunch fried chicken/pinakbet/rice/bottled water	packs	130	95.00	12,350.00
24	PM snacks spaghetti/kutsinta/water	packs	130	75.00	9,750.00
	February 24,2022				-
25	Breakfast luncheon meat with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
26	Lunch bicol express/banana/rice/bottled water	packs	130	95.00	12,350.00
27	PM snacks ginatan/suman/water	packs	130	75.00	9,750.00
	February 25,2022				-
28	Breakfast longganisa with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
29	Lunch tortang talong with giniling/rice/bottled water	packs	130	95.00	12,350.00
30	PM snacks spaghetti/puto/water	packs	130	75.00	9,750.00
	February 26,2022				-
31	Breakfast salted egg/daing na bangus/rice/bottled water	packs	130	95.00	12,350.00
32	Lunch beef steak/banana/rice/bottled water	packs	130	95.00	12,350.00
33	PM snacks sopas/bananaque/water	packs	130	75.00	9,750.00
	February 27,2022				
34	Breakfast tocino with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
35	Lunch pork adobo/banana/rice/bottled water	packs	130	95.00	12,350.00
36	PM snacks lomi/puto/bottled water	packs	130	75.00	9,750.00
	February 28,2022				-
37	Breakfast pork tapa with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00



Province of Bataan City of Balanga

38	Lunch pinakbet/fried fish/rice/bottled water	packs	130	95.00	12,350.00
39	PM snacks siopao/soda	packs	130	75.00	9,750.00
	March 1,2022				-
40	Breakfast embutido w/ egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
41	Lunch ginataang manok/banana/rice/bottled water	packs	130	95.00	12,350.00
42	PM snacks spaghetti/bananaque/water	packs	130	75.00	9,750.00
	March 2,2022				-
43	Breakfast Tocino with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
44	Lunch regadillo/banana/rice/bottled water	packs	130	95.00	12,350.00
45	PM snacks arroscaldo/puto/bottled water	packs	130	75.00	9,750.00
	March 3,2022				-
46	Breakfast beef tapa with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
47	Lunch pakbet/pritong isda/rice/bottled water	packs	130	95.00	12,350.00
48	PM snacks lomi/banana que/bottled water	packs	130	75.00	9,750.00
	March 4,2022				-
49	Breakfast longganisa with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
50	Lunch chopsuey/porkchop/rice/bottled water	packs	130	95.00	12,350.00
51	PM snacks sliced cake/soda	packs	130	75.00	9,750.00
	March 5,2022				-
52	Breakfast daing na bangus w/ egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
53	Lunch fried chicken/ginisang ampalaya/rice/bottled water	packs	130	95.00	12,350.00
54	PM snacks ginatan/suman/water	packs	130	75.00	9,750.00
	March 6,2022				-
55	Breakfast luncheon meat with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
56	Lunch liempo/lumpiang sariwa/rice/bottled water	packs	130	95.00	12,350.00
57	PM snacks sotanghon/puto/bottled water	packs	130	75.00	9,750.00
	March 7,2022				-
58	Breakfast corned beef with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
59	Lunch sarsiado/banana/rice/bottled water	packs	130	95.00	12,350.00
60	PM snacks ham and cheese sandwich/soda	packs	130	75.00	9,750.00
	March 8,2022				-
61	Breakfast daing na bangus/salted egg /rice/bottled water	packs	130	95.00	12,350.00
62	Lunch bahay kubo/fish/rice/bottled water	packs	130	95.00	12,350.00
63	PM snacks pansit/kutsinta/water	packs	130	75.00	9,750.00
	March 9,2022				-
64	Breakfast beef tapa with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
65	Lunch porkchop/upo/rice/bottled water	packs	130	95.00	12,350.00
66	PM snacks sotanghon/puto/bottled water	packs	130	75.00	9,750.00
	March 10,2022				-



Province of Bataan City of Balanga

67	Breakfast tocino with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
68	Lunch tinola/banana/rice/bottled water	packs	130	95.00	12,350.00
69	PM snacks empanada/soda	packs	130	75.00	9,750.00
	March 11,2022				21
70	Breakfast corned beef with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
71	Lunch chicken curry/apple/rice/bottled water	packs	130	95.00	12,350.00
72	PM snacks ham and cheese sandwich/soda	packs	130	75.00	9,750.00
	March 12,2022				-
73	Breakfast luncheon meat with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
74	Lunch regadillo/apple/rice/bottled water	packs	130	95.00	12,350.00
75	PM snacks ham and cheese sandwich/soda	packs	130	75.00	9,750.00
	March 13,2022				-
76	Breakfast beef patty with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
77	Lunch gulay na sayote/fried chicken/rice/bottled water	packs	130	95.00	12,350.00
78	PM snacks spaghetti/puto/bottled water	packs	130	75.00	9,750.00
	March 14,2022				-
79	Breakfast hotdog with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
80	Lunch pork shanghai/mixed veggie /rice/bottled water	packs	130	95.00	12,350.00
81	PM snacks sotanghon/puto/bottled water	packs	130	75.00	9,750.00
	March 15,2022				-
82	Breakfast embutido with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
83	Lunch beef kaldereta/Rice/bottled water	packs	130	95.00	12,350.00
84	PM snacks pansit/puto/bottled water	packs	130	75.00	9,750.00
	March 16,2022				-
85	Breakfast tinapang bangus w/ egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
86	Lunch ginisang ampalaya/fried fish/rice/bottled water	packs	130	95.00	12,350.00
87	PM snacks sopas/turon/water	packs	130	75.00	9,750.00
	March 17,2022				_
88	Breakfast corned beef with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
89	Lunch chicken afritada/banana/rice/bottled water	packs	130	95.00	12,350.00
90	PM snacks ham and cheese sandwich/soda	packs	130	75.00	9,750.00
	March 18,2022				_
91	Breakfast luncheon meat with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
92	Lunch beef with corn/rice/banana/bottled water	packs	130	95.00	12,350.00
93	PM snacks palabok/puto/bottled water	packs	130	75.00	9,750.00
	March 19,2022				-
94	Breakfast beef patty with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
95	Lunch ginataang manok/banana/rice/bottled water	packs	130	95.00	12,350.00
96	PM snacks halaya't suma/bottled water	packs	130	75.00	9,750.00



Republic of the Philippines Province of Bataan City of Balanga

	March 20, 2022				-
97	Breakfast embutido with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
98	Lunch beef kaldereta/Rice/bottled water	packs	130	95.00	12,350.00
99	PM snacks sotanghon/banana que/bottled water	packs	130	75.00	9,750.00
	March 21,2022				-
100	Breakfast corned beef with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
101	Lunch chicken afritada/banana/rice/bottled water	packs	130	95.00	12,350.00
102	PM snacks spaghetti/turon/water	packs	130	75.00	9,750.00
	March 22,2022				-
103	Breakfast salted egg/daing na bangus/rice/bottled water	packs	130	95.00	12,350.00
104	Lunch bicol express/banana/rice/bottled water	packs	130	95.00	12,350.00
105	PM snacks sopas/puto/bottled water	packs	130	75.00	9,750.00
	March 23,2022				-
106	Breakfast tocino with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
107	Lunch chicken bbque/banana/rice/water	packs	130	95.00	12,350.00
108	PM snacks lumpia sariwa/bottled water	packs	130	75.00	9,750.00
	March 24,2022				_
109	Breakfast corned beef with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
110	Lunch chicken curry/apple/rice/water	packs	130	95.00	12,350.00
111	PM snacks lomi/puto/water	packs	130	75.00	9,750.00
	March 25,2022	1			-
112	Breakfast paksiw na bangus w/ egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
113	Lunch pork karekare/banana/rice/bottled water	packs	130	95.00	12,350.00
114	PM snacks dinuguan/puto/bottled water	packs	130	75.00	9,750.00
	March 26,2022	1			_
115	Breakfast sausage with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
116	Lunch fried liempo/gulay na sayote/rice/water	packs	130	95.00	12,350.00
117	PM snacks mami/puto/bottled water	packs	130	75.00	9,750.00
03020	March 27,2022	1			-
118	Breakfast longganisa with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
119	Lunch ginisang ampalaya/fried fish/rice/water	packs	130	95.00	12,350.00
120	PM snacks dinuguan/puto/bottled water	packs	130	75.00	9,750.00
	March 28,2022				-
121	Breakfast corned beef w/ egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
122	Lunch fried chicken/pinakbet/rice/water	packs	130	95.00	12,350.00
123	PM snacks egg pie/soda	packs	130	75.00	9,750.00
	March 29,2022				-
124	Breakfast pork tapa with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
125	Lunch pinakbet/fried fish/rice/water	packs	130	95.00	12,350.00
120					



Republic of the Philippines 🕠 Province of Bataan City of Balanga

OFFICE OF THE BIDS AND AWARDS COMMITTEE

127	Breakfast embutido with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
128	Lunch karekare/banana/rice/bottled water	packs	130	95.00	12,350.00
129	PM snacks dinuguan/puto/bottled water	packs	130	75.00	9,750.00
	March 31,2022				-
130	Breakfast tocino with egg (scrambled/sunnyside up/boiled) rice/bottled h20	packs	130	95.00	12,350.00
131	Lunch chicken bbque/banana/rice/water	packs	130	95.00	12,350.00
132	PM snacks lumpia sariwa/bottled water	packs	130	75.00	9,750.00
	TOTAL CONTRACT PRICE				
	% VARIANCE FROM ABC				-11.67%

b) To recommend for approval by the City Mayor of the City Government of Balanga the foregoing findings

RESOLVED, at the City of Balanga, this 9th day of February 2022

ENGR. MARILEN Z. AL

City Assessor

Chairman, Bids & Awards Committee

MS. ELSA P. ILAGAN

CPDC Coordinator

Vice Chairman, Bids and Awards Committee

BAC Member

MS. VELMEN T. Assistant Dept. Head I, HRMO BAC Member

CGSO. Head

BAC Member



Republic of the Philippines Province of Bataan City of Balanga OFFICE OF THE BIDS AND AWARDS COMMITTEE

ATTESTED BY:

APPROVED:

HON. FRANCIS ANTHONY S. GARCIA City Mayor